Fused expression for fusion.5
loop fusion
kind=kLoop

iota.10
iota dimension=1
s32[64,641{1,0}

iota.11
iota dimension=0
s32[64,641{1,0}

% 1

compare.10
direction=EQ
pred[64,64]{1,0}

bitcast.169
pred[64,1,64]1{2,1,0}

I

pad.35
padding=0 0x4 0x0 O
pred[64 5,641{2,1,0}
operand 1 = pred[] false

l

convert.33
£f32[64,5,641{2,1,0}

A

slice.45 slice.48.clone.1
slice={[0:64], [1:4], [0:64]} slice={[0:64:1], [0:5:2], [0:64:1]}
£f32(64,3,64]1{2,1,0} £f32[(64,3,64]1{2,1,0}

/

slice.46.clone.1
slice={[0:64], [1:3], [0:64]}
£f32[64,2,641{2,1,0}

Parameter O
£32[64]

broadcast.108
dimensions={2}
£f32[64,2,641{2,1,0}

slice.44
slice={[0:64:1], [0:3:2], [0:64:1]}
£f32[64,2,641{2,1,0}

multiply.18 0
£f32[64,2,64]{2,1,0}

add.24
£f32[64,2,641{2,1,0}

tuple.5
(f32[64,2,064], £32[64,2,64])

Ssion for fusion.1
loop fusion
kind=kLoop

Fused ex

Parameter O Parameter 1
£f32(64,2,641{2,1,0} £f32[16,2,641{2,1,0}

tuple-element O of fusion.5 £32[64,2,64]1{2,1,0} tuple-element O of fusion.2 £32[16,2,64]1{2,1,0}

\ J;

slice.51 slice.52
slice={[0:64], [1:2], [0:64]} slice={[0:16:1], [0:1:2], [0:64:1]}
f32[64,1,641{2,1,0} £f32[16,1,641{2,1,0}

bitcast.161
£32[64,64]1{1,0}

\

broadcast.103
dimensions={1,3}
£f32[16,64,1,641{3,2,1,0}

bitcast.160
£f32[16,64]1{1,0}

broadcast.102
dimensions={0,3}
£f32[16,64,1,641{3,2,1,0}

0 1

multiply.16
£f32[16,64,1,64]{3,2,1,0}

\

pad.30
padding=0 0x0 O0x1 0x0 O
£f32[16,64,2,64]1{3,2,1,0}
operand 1 = f32[] 0

\

module 0010.jit__unnamed function_.sm_8.0 gpu_after optimizations
Computation main.144

Parameter 2
sharding={replicated}
£32[64]

Fused expression for fusion
lpop fusion
kind=KkLoop

v

Parameter 4
£32[64]

||

Parameter 3

sharding={replicated}

£f32[16,4,64]1{2,1,0}

Parameter 1
sharding={replicated}
£32[64,64]1{1,0}

bitcast.58
f32[64,64]1{1,0}

custom-call.1
custom call target=" cublas$gemm"

(f32[64,641{1,0}, s‘[32768]{0})
lhs_contracting dims={1}
rhs contracting dims={1}

broadcast.100
dimensions={3}
£f32[16,64,2,641{3,2,1,0}

—

slice.40 slice.49
slice={[0:64], [0:1], [0:64]}

£32[64,1,641{2,1,0}

0
Y
pad.28
addmg— 0 Ox1

0

pad.26
padding=0 0x0 1x0 O
f32[64 2,64]1{2,1,0}
operand 1= f32[] 0

Parameter 1
£32[64,2,641{2,1,0}
tuple-element 1 of fusion.5 £32[64,2,64]1{2,1,0}

Parameter 5

£f32[16,64,2,641{3,2,1,0}

T

multipl

£32[16,64,2,64]1{3,2,1,0}

lo

pad.29
padding=0 0 OXO 0 0x0 2 1x0 0 O
f32[16,64,5,641{3,2,1,0}
operand 1= f32[] 0

Parameter 3
£f32[64,2,641{2,1,0}
tuple-element 0O of fusion.5 £32[64,2,64]1{2,1,0}

slice={[0:64], [1:2], [0:64]}
f32[64,1,64]1{2,1,0}

£32[64,2,641{2,1,0}
operand 1 =132[]0

S~k

y.15

01

multiply.14
£f32[64]

slice.39
slice={[0:16], [0:1], [0:64]}
£f32[16,1,641{2,1,0}

broadcast.98
dimensions={2}
£f32(64,1,641{2,1,0}

T

multiply.13 multipl
£f32[64,1,64]{2,1,0} f32[16,1,64]{2,

lO 0
v 0

pad.27 pad.24
addmg—O 0x0 1x0 O addmg—O 0x0 1x0 0 add.16
£f32[16,1,641{2,

f32[64,2,641{2,1,0} £f32[16,2,641{2,1,0}
operand 1 =132[]0 operand 1 =132[]0

%
pad.23

\ %
padding=0 0x1 0x0 O

add.21
£f32[64,2,641{2,1,0} f32[16 2,641{2,1,0}
operand 1 =132[]0

0 /
Vv 1

add.15
£f32[16,2,641{2,1,0}

I

0x0 O

add.20

£32[64,2,641{2,1,0} tuple

T~

broadcast.97
dimensions={1,2,3}
£32[16,64,2,641{3,2,1,0}

broadcast.95 broadcast.92
dimensions={1,2,3} dimensions=4{0,2,3}

£f32[16,64,2,64]{3,2,1,0} £32[16,64,2,641{3,2,1,0}

T, ¢

multiply.10
f32[16,64,2,64]{3,2,1,0}

\ |

add.19
£f32[16,64,2,64]1{3,2,1,0}

| 0

pad.25
padding=0 0 OXO 0 0x111x000
£32[16,64,5,641{3,2,1,0}
operand 1= £f32[]10

0 I

add.18
£f32[16,64,5,64]1{3,2,1,0}

1
\ v

add.14
£f32[16,64,5,64]1{3,2,1,0}

multiply.12
£f32[16,64,2,64]1{3,2,1,0}

pad.22

£f32[16,64,5,64]{3,2,1,0}
operand 1= £f32[]10

broadcast.94
dimensions={2}
£f32[16,1,641{2,1,0}

11

Parameter O
£f32[16,2,641{2,1,0}

tuple-element O of fusion.2 £32[16,2,64]1{2,1,0}

\

slice.50
slice={[0:16:1], [0:1:2], [0:64:1]}
£f32[16,1,641{2,1,0}

/ slice.38

slice={[0:16:1], [1:2:2], [0:64:1]}

1,0} 32[16,1,64]{2,1,0}
/
1,0}

Parameter 2
£32[16,2,641{2,1,0}

-element 1 of fusion.2 £32[16,2,641{2,1,0}

broadcast.96
dimensions=4{0,2,3}
£f32[16,64,2,641{3,2,1,0}

i /

padding=0 0O OXO 0 0x2 0 1x0 0 O

reduce.3
Subcomputation: add
dimensions={2}

f32[16,

operand 1 = f32[] 0

64,641{2,1,0}

\

tuple.143

Parameter 0
sharding={replicated}
£32[64]

Fused expression for fusion.2
loop fusion
kind=KkLoop

Parameter 2
£f32[64]

broadcast.110.clone.1 Parameter 4
£f32[64,64]{1,0} dimensions={1} sharding={replicated}

tuple-element 0 of custom-call. 1 £32[64,64]1{1,0} £32[64,64]1{1, O} £f32[16,64]1{1,0}

add.26.clone. 1 Parameter 3
£f32[64,641{1,0} £f32[16,64]1{1,0}

Parameter 1

bitcast.162.clone.1
£f32[16,4,641{2,1,0} £f32[16,1,641{2,1,0}

Ty

concatenate.3.clone.1
dimensions={1}
£f32[16,5,64]1{2,1,0}

:

slice.42.clone.1
dimensions={2} slice={[0:16:1], [0:4:2], [0:64:1]}
£32[16,2,641{2,1,0} £f32[16,2,641{2,1,0}

e

' Itiply.17
slice={[0:16:1], [0:4:2], [0:64:1]} mu
32[16,2,641{2,1,0} £32[16,2 64]{2 1,0}

i /

add.22
£f32[16,2,641{2,1,0}

bitcast.165.clone.1

Parameter O
£32[64]

broadcast.105

slice.41

0

tuple.6
(f32[16,2,64], £32[16,2,64])

Fused expression for wrapped_broadcast.89
loop fusion
kind=KkLoop

broadcast.114
dimensions={}
f32[16,64,641{2,1,0}
operand = f32[] 0

e

frontend attributes={fingerprint before lhs="2595c02bf0a62e71b402dde6c2alef26"}
(f32[16,64,64], £32[16,64,64])



